ROlINO. o,

CH-05

Inorganic Chemistry

(SrepTe~eh <ATI)
Bachelor of Science (BSC-12/16)
Second Year, Examination, 2017

Time : 3 Hours Max. Marks : 40

Note : This paper is of forty (40) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / Gvs—h
(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nine and half (9%) marks each.
Learners are required to answer two (02) questions

only.
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Give the general characteristics of the elements of the

2nd transition series.
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Explain standard electrode potential with its uses.

A¥d goldels fdWd & IRl I9d SYIIN Aafed
DI |

What are Actinides ? Explain their Electronic

configuration, oxidation state and complex formation
tendency.
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Write notes on any two of the following :
(a) Effective atomic number

(b) Double salt and co-ordination compound
(c) Polynuclear complexes
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Section-B / Yis—4

(Short Answer Type Questions) / (75 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of four (04) marks each. Learners are
required to answer four (04) questions only.

Qe ‘@ ¥ s (08) oY ST W ¥ W F

TR W @ fou IR (04) o feiRd F|
iR @1 3 W dadt IR (04) Tl B IR <

g

What is effective atomic number (EAN) concept ?
Explain with example.
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Describe standard electrode potential.
MG Soldgle fava &1 e Hifg |
Write IUPAC name of the following complex
compounds :
- 3
() [CoHO ]
(i) [Co NHz , NO, , |CI
(iii) [CrCly H0 , |
(iv) [Ni NH; , |Cl
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(i) [Co NH3; , NO, 2]CI

(iiiy [crcl, H,0 2]‘

(iv) [Ni NH; , |Cl

Explain the transition elements form colour complex
compound or ion.
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Write the name of third transition series elements with
their atomic number.
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What do you mean by lanthanide contraction ?
Explain in brief.
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Write notes on the following :

(i) Chelates

(i) Non-aqueous solvent
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What is the HSAB principle of acids and bases ?
Explain.
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Section-C / ¥Uvs—1T
(Objective Type Questions) / (@& T)

Note : Section ‘C’ contains ten (10) objective type

1.

2.
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questions of half % mark each. All the questions

of this Section are compulsory.

g T ¥ g9 (10) TRS W [ W 2| IS
we & fu omn 1 ofd FuiRd 81 39 @ve @
T e e €|

Which transition elements have highlest oxidation state ?

(@ Mn (b) Pt
(c) Os () Cr
forer T T BT SATRAGROT SaReAT AABTH 7 ?
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What is the oxidation number of metal in
[Co NH; ¢ |Cl3?

@ 1 (b) 4
() 3 d) 2
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Which of the following solvents has the lowest
dielectric constant ?

(@ Water (b) Liquid SO,

(c) Lig. NH; (d) None of these
fy=foriRea § fow foaqe &1 SEsdfdcd ReRid
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(@) =T NHj
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The conjugate acid of H,O is :

(@ OH (b) H0*
) H,0, d) HI
H,0 & &TIC 37 @ :

(&) OH- @ HO*
(@) H0, &) HI

Hybrization in square planar complex compound will
be :

(a) dsp’ ) sp?
(¢) sp’d d) sp?
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6. What is the IUPAC name of K4[Fe CN 6} ?
Ks[Fe CN | @I IUPAC M T & ?

7. Correct relationship is :

(@ AG°=-nE°F
(b) F=-AG E°n
(c) E°=AG°FIn

(d) None of these
SRR

(&) AG°=-nE°F
@ F=—AG E°n
(@) E°=AG°Fin
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8. Which is not Lewis acid ?
@ Ag’ (b) Li*
(c) BFs (d)  NH,4
P T o T R ?
(@) Agt (@ Lt
(W) BR (&) NpH,
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(@ HCN (b) CHCI;
(c) CCly (d)y SO,
ffeiRad # dIF YeHa e & ?
(3) HCN (@ CHCl,
@) ccl, &) so,
10. The number of unpaired electrons in Fe3* is :

(@ 4 () 5
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Which is protogenic solvent ?
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